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SHSFERE FEARBRER KREEFREREEERTHE
HERX 5 RATEE | HRAE | 1R2HRE | 1RERE | 1REBE | 2RIHRE | 2REHKE | SRZHE | SREKE | BRAE | BweE
i3 G| 115 106 66 0.62 57 A 4 24 15 442
[xiﬁgﬁﬂfﬁ\%” 1o 2 2 1 0.50 1 1 1 1 0 2.00
BB ARI[(KF] 5A 5 4 3 0.75 3 2 2 1 0 4.00
Eﬁ?gﬁ;ﬁgé 2N 2 2 1 0.50 1 0 - - - 0.00
&‘1}%%*] 3A 3 3 3 1.00 3 3 2 1 1 3.00
(R ¢$£§$tﬁ§§ =] 2N 33 15 6 0.40 4 3 3 2 2 7.50
[ E%ﬁgﬂi[%i%*%%] 3A 5 2 2 0.00 2 2 2 2 1 1.00
SHAEERREARMBER
HERX 5 BRATEE | BAE | 1RZRE| 1RAEBE | 1REEE | 2RZHRE | 2RAKBE | SRZHRE | 3REHKE | BRAT | HEFE
E 2O | 5RIEE 26 18 12 0.67 12 10 10 5 5 3.60
{x;;rxgs?ﬁ\ )] 1REE 0 - - 0.00 - - - - - 0.00
BBl ERI(KE] 3BIEE 4 2 2 1.00 2 2 2 1 0 2.00
G| 1REE 4 4 2 0.50 2 2 2 1 1 4.00
RELXEX-EM] 2REE 13 13 4 0.31 4 3 3 3 1 4.33
Egg?gcﬁé’iﬁé 1R5EE 1 1 1 1.00 1 1 1 1 1 1.00
%@Eﬁ_[;%] 1252 0 0 0 0.00 0 0 0 0.00
ﬁ[ gfﬁ_[;i%]] 1252 0 0 0 0.00 0 0 0 0.00
[ é?f;é%@?;%] 1R5EE 19 1 2 0.18 4 2 2 2 2 5.50
ﬁ%%%g%gggﬁ 1REE 2 1 1 1.00 1 1 1 1 0 1.00
) /ff%i%ﬁ =1 1R5EE 4 4 1 0.25 1 1 1 4.00
[ E%gg%ﬁé%] 1REE 3 1 1 1.00 1 1 0 0 0 0.00
SHSEERRIEANBER
HERX 5 FRRATEE | BAE | 1RZRE| 1RAEBE | IREEE | 2RZHRE | 2RAKBE | SRZHRE | 3REKE | BRAT | HEFE
E 3O | S5RFEE 25 18 11 0.61 11 7 6 6 5 3.00
[xiﬁgﬁ\%)] 1REE 1 1 0 0.00 0 0 0 0 0 0
BBl ERI(KE] 1REE 3 3 2 0.67 2 2 1 1 0 3.00
BT EI (K] 1REE 4 4 3 0.75 2 1 1 1 1 4.00
RELXEX-FM] 2REE 1 1 5 0.45 4 3 3 2 2 5.50
Eéé?ﬁ%ﬁﬁé 1R5EE 0 0 0 0.00 0 0 0 0 0 0.00
[%*&%ﬂgﬁ?ﬁ\ )] 1REE 1 1 0 0.00 0 0 0 0.00
ﬁﬁﬁg%ﬁ;ﬁ*] 1R5EE 0 0 0 0.00 0 0 0 0.00
(=R ﬁ%ﬁﬁ%ﬁ%ﬁ =1 1R5EE 17 7 4 0.57 4 2 2 2 2 3.50
igg%éfﬂfﬁﬁ 1R2E 2 0 0 0.00 0 0 0 0 0 0.00

[ E%Eggﬁﬁé%] 1RTEE 0 0 0 0.00 0 0 0 0 0 0.00




